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“Identical twins aremostly similar in their intelligence”. Said by

1.
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3

4.

Allport

Goddard
Freeman
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The scientist who built an “Observation Dome’
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Emphasis on student’s ‘Individual differences’ in the classroom

1. Unnecessary, as even backward students should be
allotted adequate time

2. Beneficial, because the teacher can make a
comprehensive lesson plan

3. Not necessary, it is difficult to involve all students in the
teaching learning process

4. Not profitable, teacher does not have that much time
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‘Language Acquisition theory’ was proposed by
1 Skinner
2. Bandura
3. Chomsky
4. Carl Rogers
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A three year old boy Ramesh tried to feed idly to his toy,
according to Piaget’s cognitive development, Ramesh had the
following concept.

1. The concept of object stability
2 The concept of animism

3. The concept of Egocentrism
4. The concept of irreversible
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The first intelligence test was designed in the following
Language

1. French
2 German
3. Latin

4 Greek
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A four year old girl named Bharathi lost her toys while playing
with them. According to Erikson, Bharathi faces the following
psycho social crises

l. Initiation Vs Guilty

2. Industry Vs Inferiority

3. Autonomy Vs Doubt

4. Trust Vs Mistrust
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“Cumulative scale for attitudes” developed by
1 Benet

2 Thurstone
3. Likert

4 Guttman
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The number of methods used by ‘Kirk’ to identify the learning
disabilities
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It would be good, if the parenting style is as follows to develop
a good adjustment trait in the child.

1.
2.
3.
4.

developing scientific perspective
giving over protection
developing rigid, perfect discipline

developing self confidence
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“The maturation in human relations in a man is
Social Development” is defined by
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The reason why a five month old child can’t say his
mother’s name

1.
2.
3.
4.

lack of motivation
lack of experience
low maturity

lack of readiness
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Multiple choice questions are related to this aspect in memory
1. Retention

2 Recall

3. Relearning
4

Recognition
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According to Vygotsky ‘Social Speech” stage
Later Adolescent Stage

Pre Adolescent stage

Later Childhood stage

Infancy
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‘Teaching Machine’ was invented by
1 Skinner

2 Pavlov

3. Pressy

4. Thorndike
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According to Sigmund Freud ‘Phallic Stage’ is

1. 2-3 years
2. 3-5 years
3. 6-11 years
4 11-19 years
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Intelligence Quotient of ‘Slow learners’ is
VS g’ (Peped

1 91-110
2. 70 - 89
3. 50 - 69
4 30-49

Divergent thinking is called as

1. Deductive Reasoning
2. Mental Processes
3. Intelligence

4. Creativity
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A student attempted 12 out of 15 multiple choice questions.
This recognition score is
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1 20%

2. 60%

3. 80%

4 50%



20.

21.

Encouraging “Good Habits” among the children follows this

principle
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Law of readiness
Law of exercise

Law of effect

Law of generalisation
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‘Operant conditioning’ is proposed by

1
2.
3.
4

Bruner

B.F. Skinner
Thorndike
W.G. Kohler
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This is not a characteristic of teacher centered approach

1. Knowledge transmitted from the teacher to the student
2. Teacher concentrates on the right answer

3. Students learn by experiments

4. The focus is on teaching than learning
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One of the following is not a joyful learning experience.
1. Role play

2. Story telling

3. by-hearting tables

4. puppet show
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Name the scientist who did experiment on Memory-forgetting.
1.
2.
3.
4.
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Sir Francis Galton
Skinner
Ebbinghaus

Pavlov
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Language disability is

1.
2.
3.
4.

Aphasia
Dysgraphia
Agrophia
Dyslexia
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Continuous and Comprehensive Evaluation mainly aims at

promoting

1.
2.
3.
4.

Competition among children
Competition among teachers
Academic excellence among children

Inclusive education
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The game that the children play by following rules and
respecting others opinion is

1.
2.
3.
4.

Solitary play
Parallel play
Cooperative play
Balanced play
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As per NEP-2020 Foundational schools have these classes

1.
2.
3.
4.

PP,, PP,, preparatory, Class-1 and Class-2
Class - 1, Class-2, Class-3, Class-4, Class-5
PPy, PP,, and preparatory
Class-3, Class-4, Class-5

NEP-2020 (35750 o o7 6) SOA &0t S8KSen
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PP,, PP, (258638, 15 $S6K8, 25 SEK&

15 SEKB, 25 SEKS, 35 SOKS, 45 SEKS, 55 SEKS
PP,, PP,, (55866

35 SEK, 45 SSK, 55 SEKS

The following is named as ‘Single User’ computers

1.
2.
3.
4,

Micro Computers
Mini Computers
Mainframe Computers

Super Computers
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30.

The following research gives more importance for ‘objectivity’

1. Historical research

2. Correlation research
3. Descriptive research
4. Experimental research
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Telugu
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Telugu Methodology
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English
The fifty pounds he gave me  soon spent.
Choose the correct verb that fits the blank.
has

1

2 was
3. were
4

arc

Raju and Gopi are friends,
Choose the correct question tag.
1 are they?
2 isn’t it?
3. isn’t he?
4

aren’t they?

The headmaster said to Swami, “I’ll come to your house.”

While changing this sentence into indirect speech,
the word ‘your’ becomes

1 our

2. ours

3. theirs

4 his

She the door and down quickly.

Choose the correct forms of verbs to fill in the blanks.
1 shut; start
2 came; put
3. closed; sat
4

close, sit
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66.

67.

68.

Choose the wrong statement regarding auxiliaries.

Auxiliary verbs are used

1
2.
3.
4

to make questions
to make negatives
to make passive forms

to make a plural verb

In the following sentence, one word is used in a wrong

position. Choose that word.

He watches cricket sometimes.

1
2.
3.
4

sometimes
he
watches

cricket

Choose the sentence that expresses ‘taking permission’.

1 You can leave the office now.

2. Can I leave the office now?

3. Can you leave the office now?

4 He can meet me in the office.

This is a book for children Africa and its people.

Choose the word that fits the blank.

1
2.
3.
4

over
above
about

according to
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72.

We like songs ~ they like games.

The conjunction that can be used in the blank is

1 or

2. and

3. but

4 SO

I first saw Mohan in Hyderabad. , I didn’t miss any of

his programmes.

Choose the word that links the two sentences.

1
2.
3.
4

After that
So that
Because of
Before that

A compound sentence has

1 two main clauses

2 two subordinate clauses
3. two noun clauses

4 two relative clauses

A child likes toys.

Choose the passive sentence for this.

1
2.
3.
4

Toys were likes by a child.
Toys are likes by children.
Toys are liked by a child.

Children are liked by toys.
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He wears a sun cap because he is supposed to tend the sheep.

Choose the meaning of the word ‘tend’ given in the above

sentence.

1. give away
2 care for
3. take off

4 set up

Choose the antonym of the word underlined.
Please forgive me, sir.

1
2
3.
4

blame
pardon

brush

€XCusec

Choose the pair that is not homophonic.

1 sweet - suite

2 cereal - serial

3. none - nun

4 eight - eat

My brother is learning to play piano.

Choose the correct article that fits in the blank.

1
2.
3.
4

a
an
the

No article is required.
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80.

Choose the grammatically correct question.

1 Do Oliver ask for more?

2 Does Oliver ask for more?
3. Do Oliver asks for more?
4

Dose Oliver more ask for?

Choose the sentence that has correct punctuation marks.

1. The Teacher said, Why did you not come to
school yesterday?

2. The teacher said, “Why did you not come to
school yesterday?”

3. The teacher said. “Why did you not come to
school yesterday”?

4. The teacher said, Why did you not come to
school yesterday.

Choose the example of a formal letter.

1 letter to sister asking about her studies

2 letter to the manager of a company applying for a job
3. letter to a friend about his health
4

letter to your uncle asking him to send a watch

The words in a dictionary are organized
1 alphabetically
2 geographically
3. phonetically

4 by length
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82.

83.

&4.

Choose the word with wrong spelling.

1 trembel
2 beadle
3. suppose
4 board

Choose the prefix that means ‘not’.
1 bi

2 ex

3. pro

4 il

Read the following passage.

Due to heavy rains, on 28 September 2009, the people of
Kurnool had to welcome river waters in gloomy colours to their
streets instead of buses full of tourists. The water inundated
their houses.

This passage describes

1. the beautiful streets of Kurnool
2. the colourful buses of tourists

3. the beauty of rains
4,

the floods in Kurnool

Read the following passage.

Due to heavy rains, on 28 September 2009, the people of
Kurnool had to welcome river waters in gloomy colours to their
streets instead of buses full of tourists. The water inundated
their houses.

‘Gloomy’ in the passage means
1 bright
2 sad

3. green
4

active
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88.

According to Nehru the following is the window on the world.

1
2.
3.
4

Urdu
Sanskrit
Hindi
English

The following is called critical listening.

1
2
3.
4

Listening to inform
Listening to communicate
Listening to evaluate

Listening to solve problems

Extensive reading is meant for

1
2.
3.
4

getting every detail of the passage
getting the gist of the passage
improving the speed of reading

the learner at Nursery School level

The following discourse consists of personal reflections.

1
2.
3.
4

biography
story
diary

drama
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Choose the approach that was developed
by Georgi Lozanov was

1 Electic approach

2 Suggestopedia

3. Collaborative approach
4 Structural approach

The following are meant for detailed and intensive
study of language.

lessons in supplementary reader
2. poems

prose lessons

4. newspaper headlines
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92.

Mathematics

When 1787 is rounded off to nearest tens, we get

1
2.
3.
4

1790
1780
1700
1800

1787 éozp&‘éo CS%@ DEHOE DI80SAC PO éozpé

1
2.
3.
4

1790
1780
1700
1800

6 (7x3) = (6x7) 3 is an example of which property with respect
to multiplication

1.
2.
3.
4.

associate property
closure property
communicate property

distributive property

6 (7x3) = (6x7) 3 (PSSO KIEISEO P 3078 G
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The product of two rational numbers is ;—2 If one of the

. =5 )
numbers is 4_8 then the second number is

BOK> 95505 KoP5e ©QO 15 . >AS® 2% voy -
L 56 48

€900 BO&ES éogps

18
7
,, 19
.
7
Lo
7

The length and breadth of rectangle ‘A’ are 16cm., 8cm. and
length of square ‘B’ is 12 cm. then the relation between their
perimeters is

&gﬁ@ocs@o A Booy), DED, Ieoyen 16 20.20., 820.2.
$HOABw IR0 ‘B’ Boo¥), P& 12 0.20. @00S T
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1 A=B
2. A>B
3. B>A
4 A=2B



The price of one kg sugar is Rs. 32 then find the price
2.75 kg sugar in rupees

2.5 S0 BoSTS 8 &, 32 @ansS 2.75 &
DOV 58 ErFHeS”

1. 44
2. 33
3. 88
4. 100

Number of symmetric lines can be drawn to the letter ‘C’
"C 0EEI0IE Aosed FPS eFre vogs

1. 4
2. 3
3. 2
4

3,9, 7, x are in proportion then x =

3,9, 7, x H0Pge0 950 e8085° 5o x =

1 21
2 28
3. 14
4 27
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99.

100.

Y m ! n\"
Simplify [x—m] x [x] x [x—,]
X X X

Ll
o

The area of Rhombus is 96 Sq.cm. and one of its diagonal is
16 cm. then the length of the other diagonal is (in cm.)

2.5 oPo% 3Teg0 96 5.20.0. 838° 2% 5%0 16 20.%.
90005 BOES D FEY (0.20.08°)

1 8

2. 12
3. 16
4 24

/8000 value
8000 Dewss

1 25
2 20
3. 40
4 30



101. Example for “Inverse Proportion”

1. Months and Salaries

2 Men and their expenditure

3. Time and distance covered

4 Number of workers and working days to complete a

work

“DS° ST S0” & STsSes

1. I 55805 daren

OO bong 085w 8 aad;g@o
TOS0 S0 (PATEI0NS S5TEE0

L

2.5 DA YrBB A0 o0 dogpg $HOSs0
DARS Eeren

102. The following represents the statement “9 times of ‘n’ and by
adding 10 gives 20”

“n &%) 9 BesH 10 5023 20 $08” &3 A

BeVYSE
9n-10=20

2. 10n+9 =20
9n +10=20

4. 2 4110=20
9



103.

104.

8p-5 2

Tp+1 4

Solve the equation

8p=> _ _—26333§6mo(65 0S08.
Tp+l 4

9

=%

The least number which leaves the remainder 1 in each case
when divided by 2, 3, 4, 5 and 6 is.

2,3, 4,5, 6 oF oA (OO Fx0 T 53 0§ O Q) Hogg

1 59
2. 60
3. 61
4 62



105.

106.

The value of 12.28 in the rational number [2] form is
q

1228 5 esseian vovg [3] 5908° (Frasrm
q

1106
90

1106
990

1106
99

1106
900

1.

Ravi purchased a refrigerator for Rs. 5000 and sold it for
Rs. 7000 then the profit percentage is

T a8 6@)236&35‘63 &5, 5000 ©% &°Q &, 70000% ea;’)o&é
eI F°LB0

1 20
2 30
3. 40
4 25



107.

108.

The line segment which is joining from the vertex to the
midpoint of the opposite side of the triangle is

1. Altitude
2. Median
3. Height

4. Angle bisector line

2.5 (@20208" 2.5 880 00 AHE oo M55 DoLHDH
ADS BP0

1. éé&@

2. 853&5§Ke§8a)
N

4. &% 26355&52;)0(‘5‘6 B

A cuboid is 25 cm long, 15¢m broad, and 8cm high. How much
of its volume will differ from that of a cube with the edge of
16¢m. (in cm’)

25 0.2. &), 15 0.2, Sseny 5805 8 0.0, &Y
Fodeonr Ko BYNSIOITe0SE (98 4920 16 0.00. Ko
DRSO POTHOSITEI0SH Ko B (30.20.20.08°)

1. 1000
2. 1050
3. 1096
4. 1046



109. Find the principal if it gets Rs. 3927 as interest for 2 year
4 months at the rate of 8%

§0e5 50y 8% 3&Ben TY)S 2 BoIB)TO 4 IvH
5. 3927 3G FoBI, NS @vd JLI Jos?

110.

111.

1 20000.50

2. 20200.50

3. 21037.50

4 21137.50

In the class intervals 1 — 10, 11 — 20, 21 — 30, .......... the
upper boundary of 21 —30 is

PIRYSg SBKSoe0 110, 11-20,21-30, ... o
21 — 30 SBKD K0S ZJ"CSCS

1 20.5

2 30.5

3. 20

4 30

The measurements of a triangle are 7cm, 24cm, 25cm then the
area of the triangle is (in cm?)

|8eHz0 OB 7 0.20., 24 0.2, 25 0., 9003 T
37050 (5.20.20.05)

1
2.
3.
4

84
74
64
104



112. Find the additive inverse of the expression (6x” — 4x + 5)
(6x” — 4x + 5) Boo%). VOFOS IS*H0
1 6x* +4x—5
2. 6 —4x+5
3. -6 +4x-5
4 3 —4x+5

113. To construct a quadrilateral the number of measurements
required

o8 7:5&36523330 Q800 SPHORS STode Koy

1 2

2. 3

3. 4

4 5

114. The ratio of angles of a triangle are in the ratio of 1:2:3 then
their sides are in the ratio of

2.5 |@20z08°d §ero ING 1:2:3 ©onS & tHEro NG
1. 1:2:3
J3 1
12
3

AW
_—
5 SN



Maths Methodology

115. According to Vygotsky this does not belong to MKO
1. Teachers

Parents

Friends

Gardens

SR, (5750 808 ST MKO & 3058

fol & w1

e

EEHAUNSMISY
SOSo(goen

"f(ai?eﬁo@a

- w0 N

ém&sssm@o

116. ‘Learning through games’ was introduced by
1 Frobel

2 Kilpatrick
3. Bruner

4 Skinner

‘e3¢0 ~5\ek @2556:60"63 @3%’03%3;‘6&

L @as

2 SR
3. leosE
4. N6



117. This is not a mathematics academic standard

1. Representation
2. Connection

3. Communication
4. Data analysis

38 Ke3es DTG (PITE0 57
L (FodsgssEo

2. V0TS0

3. 55_%‘536735&50

4. Seo¥ e

118. Critical pedagogy shall be incorporated in the syllabus is
suggested by

3°6°§Or3°e5:; DSG)T S PANRIVING HBHETO 9 BIBIO

1 RTE - 2009
2. APSCF - 2011
3. NEP - 1986
4 NEP - 2020

119. First step in collaborative learning approach is
recognizing problem

feedback

group formation

Ll Y -~

worksheet designing
RIS NS0 0e5ed Fs0

1. DaRdg HoBouseo

> W N
&
g
e
e
£

SRR S8



120.

‘Rectangle’ is a

1. principle

2. concept

3. generalisation

4. definition

DY SEBR0” 9FoIE 2.8

1L @S
2. PSS

3.  Jrsadsseo
4. B§II0



EVS

121. After germination of the dicot seed shoot develops from
1. Radicle
2. Plumule
3. Cotyledons
4. Seed coat

55 Dok 0° T e IneTYT SHTS S0k B
300& DIND DoLrEH0.

1 (@E&S0&000

2. laRbyelSlele)
3. DestSeren
4, ALCISININe

122.  Expand GPS
GPS J380wne
1 Global Positioning System
2 Global Periodic System
3. Global Perfect System
4 Global Projectile System



123.

124.

Grains and husk are separated by

1.
2.
3.
4.

Threshing
Winnowing
Harvesting
Milling

AOBODS, &85 U I B

1.

L

«STC?JC‘EO
eﬁrcz)éaa%éo
$0e8°%¢s
S0THG0SE0

The person who experimentally proved that microorganisms
could be killed by boiling

1.
2.
3.
4.

Louis Pasteur

Lazzaro Spallanzani
Dr. Ronold Ross

Dr. Alexander Fleming

SoRoBE0 TRoe mogéa%:@@m ORI AEFBONST B

1.

N

3P0 21*’?{)5
0236;5"56 ﬁi)egj)ozsi)
. 6°5°e§ oo

. 9BmoEE MoK
3 ™



125. These dogs are used by police for tracking criminals, hidden
weapons and bombs.

1. Sniffer dogs

2. Bull dogs
3. Labradors
4. Doberman

JT0O8 K380:5¢30 §%00, TP &GODS 27020, E3ATO
50550 §%0 PO 7t Be D 05 GHETAT.

L a6 LY eo
we’i_wﬁz)
@@ow%

oW

65

126. The lens present in the human eye is

1. Convex

2 Concave
3. Biconvex
4 Biconcave

STSH Eoe3S® &) &%
1. SlefArisilele)
DETPTBO

6°S§Joz.7°s°€50

W N

&5@03%0



127. Identify the mismatched pair
Calciferol - Rickets
Niacin - Beriberi
Ascorbic acid - Scurvy
Riboflavin - Glossitis

RO 23SV A KrBOTEM

Ll

1. sy»0S - O5E)
ST - BOBO
e537),8)§ e300 - )8
Qﬁﬁicf)i)g - TR

(o

L

128. Energy conversion that occurs in an electric dry cell

1. Electrical energy to mechanical energy
2. Electrical energy to chemical energy
3. Mechanical energy to electrical energy
4. Chemical energy to electrical energy

BrgS P 20" OR ¥§ Sr8d)
L dgS 38 ool @8 ¥
DeirgS ¥ srans Fw
aSro(@5 #§ egS FE

- w0 N

EPCS 8 eSogS ¥



129. The tool ‘Sprit level’ is used by

1. Tailor
2. Mason
3. Cobbler

4. Goldsmith
SS50830" DOEBR0S B> GHBPATLD

L. &8
[~
2. oNDR
3. BEYS
4. ety

130. Removing of hair or fleece from the skin of sheep is called

1. Shearing
2. Scouring
3. Sorting
4. Carding
F°B 3050 WS 09 %)) FTOR0BERY T oL
1L 280K
2. 80K
3. 8ok
4.  sQ0R
[ev)



131.

132.

Dark Oceanic zone is

1. Euphotic zone
2. Abyssal zone
3. Bathyal zone
4.

Profundal zone
BIN|FS Ko SoABIRS $H0E0

1. AR oo
@BV $HoEOO
BOOHS 08500

L

(FHosd SHoKeo

1 Kilometer per hour (km/hr) is equal to

1. 18/5 Metre / Second

2. 18/5 Centimetre / Second

3. 5/18 Centimetre / Second

4. 5/18 Metre / Second

Ko 1 88" eath> (8.20./Koe) BAL $3wS0

1. 18/5 Deasd / %S
18/5 20820685 / ES
5/18 2088628 / ES

all

5/18 23635 / ESD



Social Studies

133. This region is characterized with some of the highest climate
differences in the World.

l. Tundra
2. Taiga
3. Steppe
4. Savanna
(BHoS0S” ¥QE Fete Sjomres SOA &) (Foed
30 2.8
1L &0
2. &
3. 5hen

o
4. QITH@0

134. These are the forests where the activities like hunting, grazing
etc. are prohibited and rights of the land reserved with

government

1. Reserved forests

2. Protected forests

3. Unclassified forests
4. Monsoon forests

R0, DHIHED JoHE0 $0Ed SERSICIER D20,
(Babee e385085° &0% eHen

1. 623% 9350
535 eI
585605 eEHes

= W N

BOAIDIS Y0



135. The scientists who study the past by digging old places where
people lived and taking out remains of their lives like tools,
bones etc., are called

1. Archaeologists

2. Theologists

3. Paleontologists

4. Anthropologists

DS 500" (Paen ASHOAS (HBFOS” Sos ST
G788 YOPSS D, AS0Een,@SBAre K000 ©E§ohSo
DOTO JU° 906T°E

L QoS RIS
o FRISen
DRSS VIS0

L

PSR SR SY

136. Greek geographer

1. Anaximander

2. Al Idrisi

3. Eurasian

4. Gerardus Mercator

RS TR0 F(Qzncd
L esdysrosd
2. S gdd

3. 0300700

4. TRoER b



137.

138.

The Ryotwari system means

1.
2.
3.
4,

Peasant tenure
Tax
Cultivate land

Tenant farmers

Q@SG AP0 ST

1.

2
3.
4

DEOKH I TE), 3KE0
s

KO

S’ Jeoen

In 1866, Dadabhai Naoroji Organised “The East India
Association” in

1.
2.
3.
4.

Paris
London
Rome

Berlin

54§ 3080 BFIELIS” VD VoI TIrEren IEE
186635 ©0SS)B0S° %) & Ao)en I,

1.

W N

B
Y145
8%
B8



139. The results of Swadeshi Movement are
(1) Boycott of foreign goods
(i1))  Tremendous demand for indigenous goods

(iii))  The textile industry received great impetus

1. i only

2. i and ii only
3. i1 and iii only
4. i, i1 and iii

6563% &5 O

(i) DB 5090 oy e

(i) BBoH SWYLH Jo&° Aced )G
(i) & DOF OV &EHOHB08.

L s

2. 130865 ii S
3. iS00 iii $ov(ERd
4. 1, i o800 iii

140. After the failure of Cripps Mission, Mahatma Gandhi decided
to launch this movement against British rule.

1. Civil Disobedience Movement
2. Non-Cooperation Movement
3. Quit India Movement

4. Home Rule Movement

35) WAS DoPBOPe PO SIS DBR 303
SgBBEOMT STy rol (FE0DONS &es§0

1. %%Ssgo:n:s €e3§0
DA% oEBEF 350
%5‘5_ OGS €535050

- W N

TRPETS &5§00 (6563% &¢3§500)



141. “Mahanavami Dibba” was built by
1. Kakatiyas
2. Vijayanagara emperors
3. Vengi Chalukyas
4. Reddy Rajulu
TROIESI Begy” NCHCIAINA

1. SEHAv
DWONSKE FoBren
Sof T

L

Bé&oreren
Co

142. Indian National Congress was formed in the year of
O 280 TORS (INC) QoBS BoSSS0

1 1885
2. 1884
3. 1883
4 1881

143. 24" Thirdhankar was

1. Parshavanath
2. Rishabhanath
3. Vardhamana Mahaveer

4. Sambhavanadhudu
243 égo§doc§3

1. b"qlsa"cﬁaéo
;quﬁeﬁmc‘éoc:ia
SESS AU ot Tt

L

DO0ISTPE0ED



144. One of the following person is not related to Bharatanatyam
1. Balasaraswathi
2. Rukminidevi
3. Bhagyareddy Varma
4. Nagaratnamma
308 >0 2.5 PESTerFIS TOBSTH S

1. wobd&s@
63%&2‘3632)
af"?iagBé ;56&

L

mxée%);ﬁo 3

145. In Blooms Taxonomy of Educational Objectives
“Manipulation” belongs to the following domain

1 Cognitive domain
2 Affective domain
3. Psychomotor domain
4. Socio Psychological domain
BTN ITYIACHE OFL FHoHO0D “ITRHeTS0” e
™ (98 flre)
o8 JoHIB.
1. 2P BOXO
=y
ALUNE: fofeYofo

SPSVE 12505%5&§ SoKo

L

S0P oE soxo



146.

147.

This type of hypothesis involves in “imagining what will
happen in the future”

1. Null hypothesis

2. Declarative hypothesis

3. Question hypothesis

4. Prediction hypothesis

“PDGHRSE’ I BHRS H0E’ &2roBO” B SEPI (TN
1. Loy @°§e>o):6

2 (DEOTEE (FE0)S

3. 3% @°§@o)€6

4 (R8s @°§e>o)5

The tests used to evaluate skill and understanding of students
1. Aptitude Tests

2. Performance Tests
3. Intelligence Tests
4. Interest Inventories

g FYeTgR, BITIS HBoSES
GHSBrNIE HOZew

1. Does if";i)gé Zaégen
bﬁ‘gd(‘é ‘éégen

(eg Zaégen

L

DS THZen



148. The Latin Word “Mappa” means

1. Map
2. Flat
3. High
4. Wide

"S5y 9 oS B @Yo

1. 2820

2. WIS
3. ABS

4. QO

149. In this method student observes different aspects and compares
them with each other confirms and theorises.

1. Discussion Method

2 Inductive Method

3. Deductive Method

4 Demonstration Method

B zagé:aesﬁ RS VG WOTOD A0 %8380,
25 TS SFEB Fenidr, Ig00D, HLroBEOTE.

1. iSGD Pl
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e8HNI DEN
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150. “Curriculum is totality of activities performed by student to
achieve the said goals” is stated by

1. J. Bennet

2. Alberti

3. Anderson

4. E.M. Droper

“AEEY B0V SUFESTHO DIHIFEETHOMNT, O ESD
DKHOD EYBEDH E8He0” & 287 IS

L BES

2. @e’z)é

3. 0056390

4. 3.0 (T76
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